7) Utility is best defined as
A) the satisfaction from consuming a good.
B) the practical usefulness of a good.
C) the amount oneiswilling to pay for agood.
D) the price of agood.
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1) The statement that isan example of the fallacy of composition. I .
A) al children should have equal accessto good public transportation :
B) the ceteris paribus fallacy cannot lead to the post hoc fallacy 2
C) if onefan at afootball can see better by standing, then all fans can see better if they all stand
D) end-of the-year holiday season shopping causes the holiday season -

2) If asociety is operating at a point inside its production possibilities frontier, then this society's 4 \
A) resources are being inefficiently utilized. . .

B) economy will grow too fast. ot ol oun ol ot par ek
C) production possihilities frontier will shift rightward.

D) resources are being used in the most efficient manner. 8) The figure above shows llene's budget line. The price of acan of cat food is $2. The price of a can of dog food

. . . ) A) is$4.00. B) is $1.60.
3) The quantity supplied of agood or serviceisthe quantity that a producer C) is$5.00. D) cannot be determined without more information.
A) needsto sell at a particular price during a given time period.

B) should sell at a particular price during a given time period.
C) actually sells at a particular price during a given time period.
D) iswilling to sell at a particular price during a given time period.

9) When bank tellers converse with each other, keeping customers waiting in line, they are
A) out of the labor force.
B) unemployed.

. . . . . _ . C) working in the best interest of the agent.
4) Suppose that taxation accountants increase the price for their service by 20 percent. The short-run demand for their serviceis D) working in the best interest of the principals.

less elastic than the long-run demand because in the long run consumers will
A) find other ways to cal culate the income tax they must pay

B) spend less on this service

C) try to avoid paying their income tax

D) experience an increase in income

10) Thelong run is distinguished from the short run in that, in the long run,
A) the firm no longer maximizes its profit.
B) output prices can vary.
C) the quantities of all resources can be varied.
D) resource prices can vary.

- 5 1 T 11) In perfect competition, afirm maximizes its economic profit if it produces the output at which .
: . / A) price equals average cost
I N ‘\\ // B) price equals marginal cost

C) economic profit equals zero in the short run
D) total revenue equals total cost
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5) In the figure above, when production is 3 units with a price of $3, the consumer surplus equals
A)a+h. B)a+b+f+g+h+].

Cla+b+f+g. D)a+b+f+g+h+Il+i+m. ) i \

12) For the unregulated, single-price monopoly shown in the figure above, when its profit is maximized, output will be
A) 6 units per year and the price will be $4.
\H‘-

re oy el

B) 4 units per year and the price will be $4.
C) 4 units per year and the price will be $6.
D) None of the above answersis correct.
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13) Inthelong run, all firmsin amonopolistically competitive industry earn

A) an economic profit. B) zero economic profit.
C) negative accounting profit. D) zero accounting profit.
6) In the figure above, arightward shift of the demand curve for apartments will ) neg gp ) gp
A) stimulate investment in buildings, thus reducing the original fal in rents. . . . . . . . . .
B) discourage investment in buildings, thus increasing the original fall in rents, 14) |mpc3[§![ng price cap regulation on an unregulated natural monopoly will result in a in the price and in the
C) discourage investment in buildings, thus increasing the original risein rents. quantity.

D) stimulate investment in buildings, thus reducing the original rise n rents. A) fdll; a decrease B) fdll; an increase C) rise; an increase D) rise; adecrease
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15) In the above figure, if no government intervention occurs, at the unregulated competitive market equilibrium, thereis an
A) external marginal benefit of $2. B) external marginal benefit of $1.
C) external marginal cost of $2. D) external marginal cost of $3.
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16) The above figure shows the marginal cost curve, marginal private benefit curve, and marginal socia cost curve for cod, a

common resource. Suppose the government assigns individual transferable quotas (ITQ) set to achieve the efficient outcome.

The market price of an ITQ is tons of cod per month.
A) 20 B) 60 C) 40 D) more than 60
17) Asthe wage rate rises the income effect induces workers to choose leisure, and the substitution effect induces
workersto choose leisure.
A) less; less B) more; less C) less, more D) more; more

18) The figure above shows alabor market. If there is a monopsony in this labor market, the wage rate would be
A) $6 per hour. B) $10 per hour. C) $8 per hour. D) $4 per hour.

19) Taxes and transfers in the United States
A) shift the Lorenz curve inward.
B) shift the Lorenz curve outward.
C) shift the Lorenz curve inward at low incomes, outward at high incomes.
D) cancel out so that the Lorenz curve does not shift.

20) If alife insurance company offers coverage regardless of age, health status, or smoking history, it is likely to suffer
A) adverse selection problems.
B) low demand for its product.
C) moral hazard problems.
D) lower costs.

21) Which of the following is NOT aresult of the American quota on Indonesian produced shoes, depicted in the above figure?
A) anincreasein the price of shoesin America
B) afinancial gain to the party who has the right to import Indonesian made shoes into America
C) inefficient use of resources
D) an improvement in America's balance of trade, that is, the U.S. trade deficit decreases in magnitude

22) "All children should have health insurance” isa
A) positive statement. B) post hoc fallacy. C) fallacy of composition. D) normative statement.
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23) Two countries, Alpha and Beta, have identical production possibilities frontiers. If Alpha produces at point a and Beta produces
apointb,then .
A) Alphas and Beta's economic growth rates will be the same
B) Beta's economic growth rate will exceed Alpha's
C) Alpha consumes less than Beta today, but it will grow faster than Beta
D) Beta's future consumption will be greater than Alpha's

24) Y ou notice that the price and quantity of wheat both decrease. This observation can be the result of the
A) demand curve for wheat shifting leftward.
B) demand curve for wheat shifting rightward.
C) supply curve of wheat shifting rightward.
D) supply curve of wheat shifting leftward.

25) The eladticity of the momentary supply curve for any good
A) is necessarily equal to positive infinity.
B) is necessarily equal to one.
C) is necessarily equal to zero.
D) None of the above answersis correct.

26) Economic growth in the United States can be characterized by
A) increases in potential GDP.
B) movements along its PPF.
C) the productivity growth sowdown in the 1990s.
D) high rates of inflation.

27) GDP deflator equals .
A) nominal GDP B) (Real GDP =+ Nominal GDP) x 100
C) (Nominal GDP + 100) x Real GDP D) (Nominal GDP + Real GDP) x100

28) Structural unemployment
A) falls when the government provides more generous unemployment compensation benefits.
B) generally lasts longer than frictional unemployment.
C) falls during the expansion phase of the business cycle.
D) falls as the pace of technological progress increases.



29) Which of the following can be said about economic growth?
|.Economic growth is increases in long-run aggregate supply.
I1.Economic growth is the persistent increase in potential GDP.

A) | only B) Il only C)landll D) neither | or Il

30) The production possibilities frontier shows the boundary between .
A) those combinations of goods and services that can be produced and those that cannot.
B) real GDP and the quantity of labor employed.
C) those combinations of goods and services that can be consumed and those that cannot.
D) leisure and work.

31) Suppose that capital per hour of labor grew by 9 percent while GDP per hour of labor grew by 4 percent. Then the contribution
of technology to growth in GDP per hour of labor is
A) 5 percent. B) 9 percent. C) 1 percent. D) -1 percent.

32) Since 1992, served as chairman of the Federal Reserve.
A) the president of the Federal Reserve Bank of New Y ork.
B) Paul Volcker.
C) Alan Greenspan.
D) President Clinton and then President Bush.

33) In the figure above, the graph that best depicts the long-run effects of an increase in the quantity of money is
A) Figure A. B) Figure B. C) Figure C. D) Figure D.

34) The long-run Phillips curve
A) slopes upward. B) isvertical. C) dopes downward. D) is horizontal.

35) If prices are fixed, an increase in aggregate expenditures resultsin an increase in equilibrium GDP that
A) isless than the change in aggregate expenditure.
B) is greater than the change in aggregate expenditure.
C) has no necessary relationship to the size of the change in aggregate expenditure.
D) isegual to the change in aggregate expenditure.

36) The theory that regards random fluctuations in productivity as the main source of economic fluctuationsis the of the
business cycle.
A) productivity theory  B) dynamic general equilibriumtheory  C) Keynesiantheory D) real business cycle theory

37) Thelargest source of government revenuesis .
A) corporate income taxes. B) indirect taxes. C) social security taxes. D) personal income taxes.

38) Therule, "Do not change the quantity of money regardless of the state of the economy," is an example of a
A) Keynesian feedback-rule policy.
B) monetarist feedback-rule policy.
C) Keynesian fixed-rule policy.
D) monetarist fixed-rule policy.

39) Net exportsis the value of minus the value of .
A) net imports; net exports B) imports; exports C) net exports; net imports D) exports; imports

40) If the expected future exchange rate falls, the exchange rate , and the equilibrium quantity of dollars
A)fdls;increases  B) remains constant; increases ~ C) remains constant; barely changes D) falls; barely changes

41) Potential GDPis
A) aways different from real GDP.
B) achieved when all factors of production are fully employed.
C) the level of GDP not adjusted for price changes.
D) another name for real GDP.

42) The term capital, as used in macroeconomics, includes al of the following except
A) acompany'swork force. B) buildings. C) equipment. D) inventories.

43) GDP declines during
A) the movement from below potential GDP back to potential GDP.
B) the movement from trough to peak.
C) the movement from peak to trough.
D) adecrease in unemployment.
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44) In the above figure, if the economy is at point A, which of the following is true?
A) Point A is the long-run equilibrium point.
B) Thereisaninflationary gap.
C) Thereisarecessionary gap.
D) None of the above answers are correct.

45) The quantity of labor demanded depends on
A) the real wage rate not the money wage rate.
B) the money wage rate not the real wage rate.
C) the price of output not the money wage rate nor the real wage rate.
D) the level of income.

46) Which theory emphasizes the significance of new discoveries that can be used by many people at the same time?
A) classical growth theory
B) new growth theory
C) neoclassical growth theory
D) None of the above answers are correct.

47) Excessreserves are
A) actual reserves minus required reserves.
B) required reserves minus actual reserves.
C) desired reserves minus actual reserves.
D) liquidity funds minus actual reserves.

48) In the short run, in the quantity of money
A) an increase; increases; increases
B) a decrease; decreases; does not change
C) an increase; increases; does not change
D) an increase; increases; decreases

the pricelevel, and real GDP.

49) Suppose that last year the Consumer Price Index was 124; thisyear it is 130.7. What was the inflation rate between these years?
A) 5.4 percent B) 6.7 percent C) 5.1 percent D) 30.7 percent

50) A movement along the saving function occurs when
A) thered interest rate rises.
B) disposable income decreases.
C) wealth increases.
D) None of the above answersiis correct.



